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Answer the questions below.  Show your work.

1.  If the average corn plant has one ear of corn, how many ears would there be in a field of 400 plants?

2.  If each ear of corn has 576 kernels, how many kernels would be in the field from Question #1?

3.  In 2005 in Wisconsin, 2,900,000 acres of corn were planted and 429,200,000 bushels were harvested.  How many bushels were harvested per acre?  

4.  If one cow eats 25 lbs of corn each day, and one pig eats 4 lbs of corn each day, how many pounds of corn would the farmer need to grow to feed 65 cows and 250 pigs?     

5.  [image: image3.jpg]


Ethanol is made from the starch in corn.  If one bushel of corn weighs 56 pounds, how many pounds will be ethanol?

6.  If the farmer harvests 350 acres of corn and has committed 25% to the local ethanol plant, how many acres are left for feeding animals?

7.  If the farmer’s average yield per acre is 129 bushels in 2005 and there is a drought in 2006 that reduces production by 25%, what will the average yield be in 2006? 
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1.  If the average corn plant has one ear of corn, how many ears would there be in a field of 400 plants?



1 ears X 400 plants = 400 ears in the field

2.  If each ear of corn has 576 kernels, how many kernels would be in the field from number one?



576 kernels X 400 ears = 230,400 kernels in the field

3.  In 2005 in Wisconsin, 2,900,000 Acres of Corn were planted and 429,200,000 bushels were harvested.  How many bushels were harvested per acre?  



429,200,000 bushels / 2,900,000 acres = 148 bushels/ acre

4.  If one cow eats 25 lbs of corn each day, and one pig eats 4 lbs of corn each day, how many pounds of corn would the farmer need to grow to feed 65 cows and 250 pigs for one year?     



25 pounds X 65 cows = 1,625 pounds of corn for cows



4 pounds X 250 pigs = 1,000 pounds of corn for pigs



1,000 for pigs + 1,625 for cows = 2,625 pounds of corn each day



2,625 pounds/day X 365 days in a year = 958,125 pounds of corn
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.  Ethanol is made from the starch in corn.  If one bushel of corn weighs 56 pounds, how many pounds will be ethanol?

56 pounds X .62 starch = 34.72 pounds of starch

6.  If the farmer harvests 350 acres of corn and has committed 25% to the local ethanol plant, how many acres are left for feeding animals?



350 acres X .25 percent ethanol = 87.5 acres to ethanol

350 acres – 87.5 = 262.5 acres to feed the animals

or 350 acres X .75 percent to animals = 262.5 acres to feed animals

7.  If the farmer’s average yield per acre is 129 bushels in 2005 and there is a drought in 2006 that reduces production by 25%, what will the average yield be in 2006? 



129 bushels X .25 percent reduced = 32.25 less production


129 – 32.25 = 96.75 average yield in 2006


or 129 bushels X .75 remaining production = 96.75 average yield in 2006
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